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Fire in Pythagorville
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1.
A fire breaks out at the Pythagorville Math Museum.  The fire department is called to the scene.  Over the scanner, WABC hears of the fire and dispatches their helicopter to the scene for a live report.  How much further must the Pythagorville Fire Department travel by road than the WABC helicopter travels by air?  Explain your reasoning.

2.
Once the PFD arrives at the scene, they discover the fire on the third floor of the museum.  They calculate that the third floor window is forty feet from the base of the building.  Using the hook and ladder fire engine they must extend the ladder to fight the fire.  The ladder is anchored to the top of the truck at a height of seven feet and the truck is parked twenty-one feet from the base of the building.  How long will their ladder be once fully extended to the window?  Explain your reasoning.
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3.
A firefighter discovers a victim on the third floor of the Math Museum.  The museum is forty-eight feet across and each floor is fourteen feet in height.  They exit the inferno through a window that leads to the fire escape.  How far has the fire fighter carried the victim when they safely reach the ground?  Explain your reasoning.








  

If a firefighter can carry a victim at a rate of six feet per second, how long will it take them to reach the ground?  Explain your reasoning.

4.
The victim is airlifted to Pythagorville Hospital.  From the museum, the hospital is five blocks east.  The airlift helicopter travels thirteen blocks northeast.  What are the coordinates of the hospital? 
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